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retint.hs % 3 2 /34 )9 % L RIHEGRTHREL cannot resolve ambiguity & 72 %,

retint.hs:

strlen "" 0

strlen (c:cs) 1 + strlen cs

main = return (strlen "Haskell")
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2020-05-06 (Wed)
ZDITT—F, Typing THEAEL TS (DT, #ED DictPass & ¥ DERETIZAR ),
UM, BRADRIERE Z2\0& | return 2MAEF RDA VARV AWNDONLRNES S,

o M7 L — errror: cannot resolve ambiguity
e main :: 10 a £ 93 — error: context too weak
e main :: 10 Int —» OK

e main :: 10 () = error: context reduction

main (ZHFERBZNGEITIE RO & S ITHRARIC >> return () ZEML 2D, B main

DFAE, kR (main 1 10t Z5HE LU THREIZt 29 T3) Mt dDTIL,

strlen "" 0

1 + strlen cs

strlen (c:cs)

main :: I0 Q)

main = do { return (strlen "Haskell") } >> return ()

10 () %



¥, main  [Int] O&SIZ 10 t THEOVHERZPFICHENTEEUANDZDOT, TIWDIF v ZIFHE,

(main :: ty) main = e

%

main :: IO () main = e >> return ()

EY =N

main :: 10 () main = (e :: ty) >> return ()

WERLTYNE, ty IOt DFEZLTWVWAZLDF oV 7 EEOFEHTEED,

> ZR LA TE, BRERICHNEZ LoESZTTHNIE. BAFDO & S IZRII7ZBIE main’ Z3EUL T
X3 7Z13T OK 2iFwy,

0

1 + strlen cs

strlen

strlen (c:cs)

main = return (strlen "Haskell")

main’ :: I0 ()

main’ = main >> return ()
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